H & 0l & AHS B Ml A

FA SHHE
=L EE=EXpFTES T
Rl SSOHEAIY =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 17,682,278 16,730,300 951,978
= 1,000,000
Al 16,682,278
H 1,000,000
SEML = 502,430 2,831,000 A2,328,570
SSHEAMY = 502,430 2,831,000 A2,328,570
QX212 2T 0 ZX 300,000 2,831,000 /2,531,000
401 Al HIX S0 300,000 2,831,000 /2,531,000
01 AlZH| 300,000 2,829,000 22,529,000
OGN ~IIAIMZt FdF0W &X 300,000
TADHEAIE THEHAl 2= & B8 XA 9 200,000 0 200,000
401 AIEHIZ SR 0HYI 200,000 200,000
01 Al&HI 200,000 200,000
OFANEAIY DAK 22 L BIEEZA
= 200,000
STHY 2= 2,430 2,430
203 HR=H| 2,430 2,430
03 A=A FAIH| 2,430 2,430
osgig g 2,430
Al MHEX =M 14,300,000 11,300,000 3,000,000
= 1,000,000
Al 12,300,000
H 1,000,000
Al AHHEX e = 14,300,000 11,300,000 3,000,000
= 1,000,000
Al 12,300,000
H 1,000,000
EAME SAlE LAY 11,000,000 8,000,000 3,000,000
401 AIZHIX S0HH 11,000,000 8,000,000 3,000,000
01 AlZH| 11,000,000 8,000,000 3,000,000
OEtALEE Al ZEAY 11,000,000
BA=JRE SSHXCIAIE X At 2,000,000 300,000 1,700,000
= 1,000,000
H 1,000,000
401 Al HIZL S 0HYI 2,000,000 300,000 1,700,000
= 1,000,000
H 1,000,000
01 Al&H| 2,000,000 300,000 1,700,000
OBtA=IhE SSHXCIAIE ZX] At 2,000,000
= 1,000,000
H 1,000,000
EtAE MAUTZ AXZ(XIGHHE) HE DA 1,000,000 2,500,000 1,500,000
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FA SHNE
T BF2YA (DYWL
CHel: J12dHI(SgHg D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 8,208 0 8,208
01 2LHoIH 8,208 0 8,208
OJ|2HRFT0Y| 8,208
203 HR=4Y] 2,700 0 2,700
M A=A 2,700 0 2,700
OFRANEZHYE =AY 225,000« 123 2,700
WResS(SSHL) 1,800,000 1,300,000 500,000
E W PN 1,800,000 1,300,000 500,000
ST AHEZ SHESAH KR 800,000 1,300,000 A500,000
701 JIEtRIHNSHES 800,000 1,300,000 A500,000
01 JIE=I AN ES 800,000 1,300,000 500,000
O3+ AHECZ SHEISA K& 800,000
CADHESESH dES 1,000,000 0 1,000,000
701 JIEtRI HSHES 1,000,000 0 1,000,000
01 JIEt=IAHE ES 1,000,000 0 1,000,000

O ADHESEIHEES 1,000,000




